C:# Addition Using Open Number Lines Name:
Solve each problem. Answers

1) 73,300 + 11,640 =

< ® @ ® @ ® > 2
2) 49,318+ 21,546 = 3
4,

< @ @ @ @ @ @ >

3) 49,675 + 10,059 =

< @ @ @ @ > 7
4) 69,732 + 14,001 = 8.
< @ @ @ @ >

5 80,359 + 12,191 =

< ® @ L ® L *—)>

6) 48,334 + 47,033 =

< ® @ ® @ ® >

7) 56,647 + 4,901 =

< ® @ ® L >

8) 32,819+ 23877 =

< ® @ L ® L *—>
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ﬂh Addition Using Open Number Lines Name: Answer Key
Solve each problem. Answers

1) 73,300 + 11,640 =

1. 84,940

73,300 83,300 84,300 84,900 84,940
< e 0 — 06— 9 > >, 70,864

+10,000  +1,000 +600 +40
2) 49,318 + 21,546 = s 09,734
49318 69,318 70,318 70,818 70,858 70,864 4 83,733
< o —— @& —— o6 — 66— 06
+20,000 +1,000  +500 +40 +6 5. 92,550
3) 49,675+ 10,059 =
6. 95,367
49,675 59,675 59,725 59,734
< \_/‘\/‘\/‘ > 7. 61,548
+10,000 +50 +9
4) 69,732 + 14,001 = 8. 96,696
69,732 79,732 83,732 83,733
< S S >
+10,000 +4,000 +1

5 80,359 + 12,191 =
80,359 90,359 92,359 92459 92,549 92,550
< &——— e — @6 —— 6 —— 6 06 >
+10,000 +2,000 +100 +90 +1
6) 48,334 + 47,033 =

48,334 88,334 95,334 95,364 95,367
«——e— e o o 0o
+40,000 +7,000 +30 +3

7) 56,647 + 4,901 =

56,647 60,647 61,547 61,548
——e———— 9o 8o o >
+4,000 +900 +1

8) 32,819+ 23877 =

32,819 52,819 55819 56,619 56,689 56,696
«—e——0o —90 0 @0 0>

+20,000 +3,000 +800 +70 +7
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